L4.R Chapter Review

1. polynomial function; A(x) = —15x7 — x* + 2x% It has degree 7
and has a leading coefficient of —15.

2. not a polynomial

6. 4 —4x’ —4x— 8§

7. X'+ 37 —x¥—-3x+ 15

8. 2¢ + llx+1

9. 2y' + 10y* + 5y — 21

10. 8m* + 12m’n + 6mn* + n’

11. 55+ 357 — 10s — 24

12, m* + 16m* + 96m* + 256m + 256

13. 243s° + 810s* + 1080s° + 720s* + 240s + 32

14, 2%+ 625+ 152 + 2023 + 1522 + 62 + 1
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X =4+ 15x — 60 + ——
x+4

2(5) = 546

8(2x — D(dx* + 2x + 1)

22z =S}z — Dz + 1)

(a—2)a+ 2)2a —1T)

-2 |1 2 0 —27 -54
-2 0 0 54
1 0 0 27 0

SO =x+2)x—=3)x*+3x+9)

x=—4,x=-=2,andx =3

x=—4,x=—-3,andx =2

fx)=x" =57+ 5x— 1

f(x)=x"— 5+ + 25x — 30

fx)=x"—9x + 1122 + 5lx — 30

The length is 6 inches, the width is 2 inches, and the height is
20 inches; When £ (£ — 4)(3/ +2) =240, /=6

f)=x =57+ 1lx— 15

fx)=x"— 2+ 14 — 16x — 32

JSx)=x"+Tx' + 6x* — dx + 80

Positive | Negative | Imaginary | Total
real zeros | real zeros| zeros zeros

2 0 2 4
0 0 + 4
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Positive | Negative | Imaginary | Total
real zeros |real zeros| zeros zeros
I 3 0 4
1 1 2 4
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The x-intercept of the graph is x = —1.68. The function has a
local maximum at (0, —1) and a local minimum at
(—1, —2); The function is increasing when —1 < x <0 and

decreasing when x < | and x > 0.
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The x-intercepts of the graph are x = 0.25 and x = 1.34.
The function has a local maximum at (—1.13, 7.06) and
local minimums at (—2, 6) and (0.88, —3.17); The function
is increasing when —2 <x < —1.13 and x > 0.88 and is

decreasing when x < —2 and —1.13 <x < (.88.
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43. fx) = (x + Hx — H(x — 2)

44. 3:f(x) =23 — Tx2 — 6x
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